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V Semester B.Com. Examination, March 2023
(CBCS) (2022 — 23 and Onwards) (F + R)
COMMERCE
Paper - 5.2 : Cost Management

Time : 3 Hours Max. Marks : 70

Instruction : Answer should be written completely either in Kannada
or English.

SECTION - A
WM — &

1. Answer any five sub-questions from the following. Each sub-question carries
2 marks. (5x2=10)

8¢NT cIRTerte BEd WB-T,INer egon. Fé wwm-TZ R 2 wosnt.

a) What do you mean by cost control ?
w38, Dodos,es woziderd ?

b) Give the meaning of business process re-engineering.
39, T00 3,08 De-B0BACIVONTS STFWI, Ved.

c) Calculate BEP units. Fixed cost ¥ 1,20,000, variable cost per units ¥ 20,
selling price per unit ¥ 32.
83 DIONTOT FWoAS Womd CleEF YR FomELBOWD.
%da’zgﬁ 1,20,000, eorsenssss i, &8 cduedesri X 20 one Snoees Bid ©,8
cdaedes i T 32.

d) Mention any two types of variances.
CIRTYTTTR TR QTT =,T, AN, BIOX.

e) What is flexible budget ?
WS BowE, o DOTITED 7

f) State any 4 reasons for implementing ABC.
IRXSRL B Taplek ] aﬁz&wa:smi Eﬂ;fﬁﬁhﬁm%uﬁ 4 EnUmm SON,

g) Define standard costing.
3%, PRI, T, 809, DN 15
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SECTION -B
LR = W

Answer any three of the following. Each question carries 5 marks. (3x5=15)
N CARYTRE0R Rt BBNeT euzoR. B3 T 5 o3t

2. Write any 6 differences between cost control and cost reduction.
508, 00T, £2 Torie =53, BRBT ST 6 3,39, ANTY, WBoLW0.

3. Briefly explain the limitations of Activity Based Costing.
2383053638 5003 Feg (ABC)T Q03neisy Mogemen s,

4. A firm has produced and sold 40000 units during the year 2022. The selling
price was T 100 per unit. The cost details were :

Direct material ¥ 12 per unit, variable cost ¥ 6 per unit, direct labour ¥ 12 per
unit, fixed expenses ¥ 7,00,000. Prepare a marginal cost statement to show
profit or loss and also find out the break even point in rupees and units.

20225¢) BoTRCI0 400000HRREFTERY LVT AL TR0 RRAT, Td IR
Snooes B0 ¥ 100. BeR DIOED :

et Mo, N B8 cdawtr i T 12, wroesmod 58 T8 0nRREFR X 6, Jeo 8rd
%@ cdomnern T 12, .-J'tj ﬁtﬁﬁ%ﬁj? 7,00,000. es023z ﬁzﬁ = E‘Eaﬁﬁcdait 20004 oyl
azﬁm SR -ﬁomaoaama B MRS LOTHT cda.raﬁ}&,fﬁ% aﬂ:ﬁ‘ B[,
ﬁom&ama

5. The standard materials required to manufacture one unit of product P : 10 kgs
and the standard price per kg of material is ¥ 50. The cost accounts records,
however revealed that 11500 kgs of materials costing ¥ 5,52,000 were used
for manufacturing 1000 units of product P. Calculate material variances.

53, aeroned s Pd mmdsﬂﬁ 2380 WA 20T clwedtFrt 10 8.2
mma QYN 20es3 238 X 50 :},@, 8.28.78. Se3peRs mR&ecioZ 11500 &.22.
sRoned) 5520&0 Do werd Tore 1000 ImEr PR evmsod
s:s:i:a.r.:a‘aaz*‘r':ﬂmgL wa:aﬁk:& TRFF S &,I,ANVSY, BormLAD.
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" 6. Prepare a flexible budget for 80% (2000 units) on the basis of the following
information. Production at 60% capacity 6000 units
Raw materials ¥ 80 p.u.
Direct labour T 50 p.u.
Direct expenses X 20 p.u.
Factory expenses T 50,000 (50% fixed)
Administrative expenses ¥ 30,000 (60% variable)
FPNT L[OMPoT Jes® 90 (9000 CLRVETFNT) woTd WO Lo, 0ld TWeIcDEY
BIR0K. LUSHTS T,888 60 M0, B 6000 CIRREFTIED.
ARE30N, 353, %,8 ol Ti X 80
Hev eI =& cbneRtri T 50
360 Dwornieh T,& o T 20
BT S e nEd X 50,000 (50% AT )
&Eee Dwdrned T 30,000 (60% 230)

SECTION-C
PN - 4

Answer any three of the following. Each question carries 12 marks. (3%12=36)
BYNG conRYTREtR St FFner cvgor. Bé TI 12 wosnsd.

7. Fixed cost ¥ 1,20,000, variable cost T 3 per unit, selling price X 7 per unit and
output 50000 units. Determine the profit under each of the following situations.

a) With the above data.

b) With 10% increase in output.

c) With a 10% increase in fixed cost.

d) With a 10% increase in variable cost.

e) With a 10% increase in selling price.

hmd =3, ¥ 1,20,000, 2oc3Rrbes ﬁgﬂgé obeerr T 3, Se0es o0 Hé ceteFn I 7
Tone tﬁ:@’ﬁ 50000 clopdEzTish. 83 39N Fomyrned, 1t weyienm), FoEi8 B0,
a) =oedd mRb3cdh ST,

b) Je¢. 10 da:‘% mrﬁi LoFodRTen.

c) 3e. 10 T, e 238, OBCIRTRM,

d) 3e. 10 SR, BN 3, HOFdRTRN.

e) 3e. 10 dﬁ::ﬁ wRTVL BT NOFcIRTeN.
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8. The standard mix to produce one unit of product is as follows :

Material X — 60 units @ T 15 per unit = ¥ 900
Y — 80 units @ ¥ 20 per unit= ¥ 1,600
Z —100 units @ ¥ 25 per unit = ¥ 2,500
240 units ¥ 5,000

During the month of January, 10 units were actually produced and
consumption was as follows :

Material X — 640 units @ ¥ 17.50 per unit= ¥ 11,200
Y — 950 units @ T 18.00 per unit= ¥ 17,100

Z—-870 units @ T 27.50 per unit = ¥ 23,925

2460 units ¥ 52,225

Calculate all material variances.
2,000 odenes TEREFER, LS OTO tesornass S8 ATRFT Q0T 55 B3 $UEom0ss.
AEdh, X — 60 clasmerrish =& eI 15008= T 900

Y — 80 oo ish T8 chndert T20 0= ¥ 1,600

Z — 100 cmRernied .8 cedtrri T 25 Sog= ¥ 2,500
240 0T % 5,000

BTR0 SoneTd) 10 coedss MFEY €% DX, SIS WEFCIRT TN, Hes :

AN, X — 640 cdedes e T8 oledeF R T 17.50 Sod = T 1 1,200
Y — 950 chedernish =,8 cedert T 18.00 og =2 17,100

Z — 870 copdezmish @& odweder T 27.50 ool = T 23,925

2460 ol s ¥ 52,225

DR, AN, N WTRTHENCRY, BorEGRC00.
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* 9. A manufacturing company is expecting to have ¥ 32,000 cash in hand on

1%t August 2022 and it is requested you to prepare cash budget for three
months August to October 2022. The following information supplied to you.

Month Sales Purchases Wages Office expenses
T 3 T T

June 70,000 44,000 6,000 5,000

July 80,000 56,000 9,000 6,000

August 96,000 60,000 9,000 7,000

September 1,00,000 68,000 11,000 9,000

October 1,20,000 62,000 14,000 9,000

Other information :
a) Period of credit allowed by supplier is two months.

b) 25% of sales are for cash and the period of credit allowed to customers is
one month.

c) Delay in payment of wages and office expenses is one month,
d) Dividend paid 28,000 is to be paid in October 2022.

1-8-2022 Cory BomRod Irich we,doyE e X 32,000. BNAY, —Eﬂﬁ%ﬁwc‘ 2022°
IEDT FRsH Son¥ SR WOONEHI, TR B3RO BPNT RBRESCTY QEBETHNG.

Somsd b plent ! Loelnsd BA0 BedeDoid s,
< T 4 L4

wRT 70,000 44,000 6,000 5,000
20, 80,000 56,000 9,000 6,000
ST, 96,000 60,000 9,000 7,000
A3 orce 1,00,000 68,000 11,000 9,000
S8R T 1,20,000 62,000 14,000 9,000
BZC BRLSNED

a) TRYITOD SOR $on¥ TOT 30 NeRTOTT.

b) SROPLE Se. 25 S Rnoeks TF) TH,BEON 1 Sonish W LBE NeBEBNT.
c) 3O T Beied S s 030 1 SomeD.

d) T 28,000 eogmay, 20220 BRI éamﬁqﬂmﬁ&ﬁmfmﬁ.
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10. The budgeted overheads and cost driver volumes of Mahesh Ltd. are as follows.

Cost Pool Budgeted Cost driver Budgeted

Overhead Volume
Material procurement < 3,95,000 No. of orders 850
Machine set-up < 3,60,000 No. of set-up 400
Maintenance ¥ 2,00,000 Maintenance hours 3100
Quality control T 1,60,000 No. of inspection 800
Machinery < 4,50,000 No. of machine hours 26000

The company has produced a batch of 2500 components of PQ. Its materials
cost was Y 1,50,000 and labour cost ¥ 2,00,000. The usage of activities of this
baich is as follows.

Materials orders 20, set-up of machines 22,
Maintenance hours 560, No. of inspections 25 and
Machine hours 1500.

Calculate cost driver rates that are used for computing appropriate amount of
overhead to this batch and ascertain the cost of the batch of the component
using activity based costing.

TTeT* OVHE'S Lo IRBLINTOE Roeensdes w02 woed TomReH
s vdoross.

g xon, = OOREO DRARE  WWCERY LR BREIRE

a:aw:ndzg‘ Eafelnb )
AozN, 0D < 3,95,000 ie” ﬁoadﬁ 850
ch03, A T3,60,000  xBInY Boa 400
NEF&TINT ¥ 2,00,000 RF D@ nokdngh 3100
HJeaainé.gj Shoilen ) ¥ 1,60,000 m@aﬁmﬁ@ :ioa::‘; 800
odooE, ngd ¥ 4,50,000 03003, MY Foo 26000

FOTROID .00 BBOOLY, .00 So@m 2500 @oﬂﬁmﬁ PQ Smops 3cdn0as.
BO0 mEbdh, =58 T 1,50,000 32 89 ube T 2,00,000. EUTOIRENTVE,
WBROTLIFNG [T s FPBoEoST.

AN, LTeBnsh 20, oog, ARES 22
QBT rotnsh 560, WoDeFF Hoad, 25 Ty
cddog, suEcdeent Fo© 1500 noednisd.

aSa-ifd WLT BT TR TPr Lioviplollovelufd aﬁsewd@ﬁi WL w0 DudF
(Alaphaloinf.lolr o1 N lovelol
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. a) The sales and profits for two years as below.
Year Sales Profit
2021 1,20,000 8,000
2022 1,40,000 13,000
Calculate :

i) P/ ratio.

i) Break even point.
iii) Profit when sales are Z 1,80,000.

STkl [T ey OB STenen benes.

=R RRTE (o]
2021 1,20,000 8,000
2022 1,40,000 13,000

BomHB0W00 .
i) ooy [RoH ZO=IER.
i) "SoAS LIOT.
iy ¥ 1,80,000 RRooLs, o® oY,
b) Explain the various principles of target costing.
o0 S HRG TR DWOA.

SECTION-D
omen—8

Answer the following question, 9 marks. (1x9=9)
gons F37 LOBOR, 9 esCEMS.

12. Develop E-content for cash budget.
E-Dmed SREood Inigds ol 03, @z;sﬁﬂ%ﬁah.
OR/eg=e
List 10 industries where standard costing is used.
b =% uzra:o;ﬁa"% sURRERORTIT adnamence 10 %mbsﬁmﬁ EROA.




